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PreCalculus - Warm Up - 8/25/17

Let g(x)=3x" + x=2 and find the following:

1. g@ 2. g(-4) g(x - 1)
3(x D* Hx-)-2
30254y -3
3% - (ox $B+x -%
4. Graph the piecewise function:
x*,  x<0
f(x)= {3 o4, 520 f-2)=4
$0:0
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Part 2: Domain

Find the domain of each function.
a.f:{(-3,0),(-1,4),(0,2), (2, 2), (4, 1)
b. g(x) = -3x? 4‘D:5§-3| 0\2‘-‘.
.9(X)=-=-3x?+4x + -)F. Novmja
:)D —o0 +oo>

1
¢. =75 D ("'aol" V(-5 400
X+5=0 x#-5 ' )

The domain of a function can be described explicitly or it
can be implied by the expression used to define the
function. The implied domain is the set of all real numbers

forwhich the expression is defined. Revistance the
fungtigwr

What is the domain of this function?

vE4, +0)

If you can evaluate a function for any x a nd get
some value for y (does not matter what value) for
any value of x, then the domain is all real

numbers. .
(_ o, 00) Pad Eg"ﬁ'ﬂlds
I~ 2 RED FLAGS I~

even radicals fractions
(i.e. square roots)

2
x*=2x-15
y=-/2x+8 f(x)=
x—4
D omain excludes x-values tha t sults Domain excludes x-values that
in oots of ni g t e num
resultin division by zero.

Sd' éx"i) ‘!“"‘ Sed dmmwbr?.
$ 2ew
2x+8 =0

x=-4 x-4=0 x4
D:L-4, +00) b: (-w,‘D"(‘lp«]
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Writing a piecewise function:
f=_1 if EO, 1)

A DDS to=_2 ir[1 2)
=3 it[2,3)




Attachments

'El Function definition


http://youtu.be/0YreX1wYe_Y
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